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PART ONE: LUNAR PHASES
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PART TWO: TIDES
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PART THREE: SEASONS

Seasons on wrma&m of fle earihs Hill as it ortits e
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Excellence

Subject: Physics, Earth and Space Science RAS
Standard: 92046
Total score: 19
Grade
Q score Marker commentary
Candidate has explained two phases of moons in terms of their relative
One M5 .
positions of Earth-Moon-Sun system.
Two E7 Candidate has discussed why Aotearoa/NZ experiences king tides at
irregular intervals.
Candidate has discussed how the relationship between Earth and Sun in
Three E7 . . e .
terms of orbit and tilt can cause variation in radiation and seasons.






